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Questions

In Indian Constitution, which of the following article guarantee Right
to Education?

HRdTT Tfaem & Fafied & @ oF w1 e Rren & siffer
PR AT 82

(A) Article 14

3gwq 14

(B) Article 15

3G 15

(C) Article 16

TG 16

(D) Article 21A
21A

In August 2018, which of the following country have signed second
protocol amending Comprehensive Economic Cooperation
Agreement with India?

3T 2018 H, FUfoiRad & 9 frg 39 3 YRA & 91U A9S

m@ﬁﬁ%wmﬁWWWﬁwmwmm
?

(A) Singapore

(B) Japan

SITaT

(C) Indonesia

(D) Germany

Which of the following acid is found in banana?

Fa H Ffafad & T o9 I1 3 Ui 91 82

(A) Citric acid
Rifeed e

(B) Acetic acid

THife® 3

Answer
Key

(D)

(A)

(A) &
(B) &
(D)
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(C) Oxalic acid
A&

(D) Malic acid
EINEACE]

According to NABARD, All India Rural Financial Inclusion Survey
2016-17, how much of rural income is generated by agriculture?

TS ¥ URTT It foiia JHEO=A Tdarur 2016-17 &
YR, forat umfior 3ima S gRY Iafed ot ot 82

(A) 23%
(B) 40%
(C) 57%
(D) 63%

Which among the following ministry has launched Swach
Survekshan Gramin 2018?

Fafafea & 9 forg daTe gRT Ta<s qaer UTHir 2018 &1
ArpTduT fpaT T 82

(A) Ministry of Agriculture and Farmar's Welfare
PN qYT fbA Hearu dAey

(B) Ministry of Drinking Water and Sanitation
U e T W3l HATerd

(C) Ministry of Rural Development

I AEEIRREEINE]

(D) Ministry of Earth Science
Gt faqT HATerd

In the following question, out of the four alternatives, select the
alternative which best expresses the meaning of the idiom/phrase.
Birds of a feather flock together

(A) There is strength in numbers, a team can achieve what an
individual can't.

(B) people of the same sort or with the same tastes and interests will
be found together

(C) Even if they try people cannot change their tastes or interests

(A)

(B)

®)
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(D) People will flock together when they see an opportunity

In the following question, out of the four alternatives, select the
alternative which is the best substitute of the phrase

Not able to be changed or reformed

(A) Redeemable

(B) Cavalier

(C) Incorrigible

(D) Haughty

In the following question, a sentence has been given in
Direct/Indirect speech. Out of the four alternatives suggested, select
the one which best expresses the same sentence in Indirect/Direct
speech.

She said, '""Mother, this dress looks beautiful."

(A) She said to her mother that, this dress looked beautiful.

(B) She said to her mother that, that dress looked beautiful.

(C) She said to her mother that, that dress looks beautiful.

(D) She said to her mother that, this dress looks beautiful.

The question below consists of a set of labelled sentences. Out of the
four options given, select the most logical order of the sentences to
form a coherent paragraph.

According to the steady-heating
A-in turn have a specific density
B-model, the coronal loop of a given
C-length and temperature should
(A) ACB

(B) BCA

(C)CAB

(D) CBA

Answer the given question based of the following passage.

My favorite part of Saturday is walking through the city. Sometimes I
close my eyes and let Daddy’s hand guide me. When my eyes are
closed, I can hear things I don’t usually notice. I can always hear the
cars honking and the people shouting. But when my eyes are closed, I
notice how the pigeons talk to each other while they sit on the

©

®)

(B)

(A)
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benches. I notice how the bell on Wilson’s Grocery door sounds
different than the bell at the hardware store.

What does the writer notice only if she closes her eyes?

(A) The talking of the pigeons

(B) The honking of the cars

(C) The shouting of the people

(D) The holding of daddy's hand

Raman sold a car to Rajat at a loss of 14.28%. Rajat sold it to Vinit at

a profit of 66.66%. If Rajat purchased the car at Rs 1400, then at what
price (in Rs) Raman bought that car?

THT A ToTd D1 U TMST 14.28% P g1 WR a1 | Io7d A fa=iid 1
66.66% P TH TR T | f ToTd A ST 1400 T H WAL, A IHA A
I8 Mol fha 0 (3 ) W WG

(A) 1120

©

(B) 980
(C) 1633.33

(D) 1167.67

L, M and P can do a certain piece of work in 15, 20 and 40 days
respectively. They started the work together. M left the work after 4
days of starting and P left the work before 3 days of completion. In
how many days the work will be completed?

L, M YT P T BT B HHT: 15, 20 TUT 40 7 § X Tpd B

I B T T URY fham| M, F & 8 & 4 & ugg srd

BISHR Il A1 AU P, BT JUT 84 & 3 737 Id S Bredw Ia

T | T b ot o guf g1 Smavm? (A)

(A) 9(6/11)
(B) 9(9/11)
(C) 10(5/11)

(D) 9(8/11)

®)
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In the square ABCD, E is the midpoint of CD. BD
and AE intersect at point O. If the area of AAOB is
36 m?, then what will be the area (in m?) of AODE?

T ABCD # E. CD @ sew faeg &1 BD aum
AE faeg O W ufa=dg & ¥ af AAOB &t
8% 36 A2 ¥, o AODE & &wa (3.2 #)
FIT T

m

(A) 18

B)9

© 12

(D) 24

If tan 6 = 7/12, then what will be the value of [(sin 6 + cos 0)/(3 sin 6

+4 cos 0)]?

e tan 0 = 7/12, A [(sin O + cos 0)/(3 sin 0 + 4 cos 0)] HT A T

LI

(A) 17/69 (B)
(B) 19/69
(C) 17/36
(D) 17/67
sikx CASE QN #% ©)
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The bar graph given below shows the production
(in quintals) of three companies in the given three
years.

@ RRw o gus RAw & Ry ow de aof # gm
& Fufeat & U (B #) & T o3
&l

Company | &=l
oA mB oC
2500 -
E 2000 - 1850 200
‘é 1500 - 1100 1200
= 950
S 1000 A 700 700
& 500
© 500 300 H H I
n- D H T T |_| 1
2014 2015 2016
Year | ot

Total production of company B in year 2014 and 2016 together is
what percentage of the total production of company C in year 2016?

Iy 2014 TUT 2016 H FHIATHR HU B BT A SIS, I8 2016 H
MC%memmg

(A) 160

(B) 200

(©) 150

(D) 250

In the following question, select the related number from the given
alternatives.

23:60::47:?

frafead vy # fau e fasedl # 9§ Heifdd w1 &1 gHul
23:60::47:?

(A) 74

(B) 54

(C) 64

D)
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(D) 84

Rajat started walking from point P. He walked 14 km towards north
and reached point Q. He then turned right and walked 37 km to reach
point R. He turned left and walked 24 km to reach point S. He finally
turned right and walked 18 km to reach point T. What is the straight
line distance (in km) between point T and point R?

oid A faieg P & <[ URY foba| 7 14 fob Y. IR 1 SR =rem
T farg Q TR U 7| g R et 9fR g1 T 37 b Y, Teiah)
fag R IR Ugd 1| 98 1T 3R g1 U1 24 foh Y. a@apr fag S
R Ugd 711 98 3idd: SRl iR g1 aul 18 foo dl. aeiapx fog T
WHE%%TITITI farg T auT farg R & e el Y@ g (fop . o)
Ia';a-_-i 9

(A) V5165

(B) 30
(C) 28

(D) V890

What will be the mirror image of the given
figure?

& 2 FHTa FT gUuT ufafesd @ e

B R
qA

4 K

(A)

A g

Ad

X b

(B)

A g

AP

A b

(B)

(B)
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A B
A 9
A b
D)

A 8
VP
A b

In the following question, select the missing number from the given
series.

39,41, 43, 47,47, 53,51, ?

frofafea oy o fou e fawedt & 9 qu sie 1d B

39,41, 43,47, 47, 53,51, ?

(A) 59

(B) 55

(©) 69

(D) 65

Select the correct set of mathematical operations to correct the given
equation.

38712211424 ?53=-45

T T THia=01 1 951 B & fore it dferarstt & w5t aig
®I gHT|

38?122114?4253=-45
(A) =+ +x
B)x, =~
(C)+, — +x
(D) x, +, +, -

When a high resistance is connected in parallel with a low resistance,
which of the following is true?

T I UfeRIY & 1Y HFIR # 1 UfeRiy 18 g, ot g
AP ATIE B2

(A) The combined resistance is higher than the lower resistance.

(A)

D)

(D)
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Haree Ufaiy e gfaRiy ¥ Sarer g |

(B) The combined resistance is lower than the higher resistance.

HaEe Uy I=9 URIY A HH |

(C) The combined resistance is between the value of high and low
resistance.

Harss UfRlY 3=a R A iRy ag & da

(D) The combined resistance is less than the lower resistance.

HAES TR AR Uy A

If two resistances of 4 ohms and 6 ohms are connected in parallel
across 12 V supply, then what will be the total resistance (in ohms) of
the circuit?

gfe 12 diee & @S S JAFR H 4 3R (ohms) 3R 6 3
(oh%%ﬁmﬂﬁm%,aﬁﬁﬁ%(ﬁh@ﬁ)ﬁmﬂ
T 9

(A)5 (B)
(B) 2.4

(C)4.8

(D) 0.42

Which of the following statements is true?
fFofefed # 4 o a1 ared T8t 82

(A) The staggered tuned amplifier generally employs common
emitter configuration.

TS TAHBRR IR TR 3TH TR BB S
ffora R g

(B) The staggered tuned amplifier generally employs common
collector configuration. (A)

WS TS THTIBTIR AR TR 3T HaAdeR HI-bIRA B
g Hrar 3|

(C) The staggered tuned amplifier generally employs common base
configuration.

WIS TS THTHRR AR TR 3T YR FHIRBTRRA B
BEISEEGIE]

(D) The staggered tuned amplifier generally employs FET.
faford FRar g

©
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Which of the following statements is true in the case of JFET and
MOSFET?

WUBSEl 3R THIANTIURS S & A | Raffd d s
qI TRl 82

(A) Both require negatlve gate voltage for operatlon

TATe & foTU GIFl 1 THRIHD TC dleesl &l SRexd Bidl g

(B) JFET requires positive gate voltage and MOSFET require
negative gate voltage.

SUSc! Bl YHRIFD T dlecs] bl oRexd gldl § 3R
THINTIUHS A ] THRIAD 11 dicesl Bl oRed gl g

(C) JFET requires negative gate voltage and MOSFET require
positive gate voltage.

P THRIHP T lecol P ol ed Bldl & 3R
TH3NTHUHS A Bl YHRIAD 71 dlecs Bl oed gldl g

(D) None of these

T A DI el

Which of the following is the purpose for introducing feedback loop
in a digital counter circuit?

fefoed HéeR Ufdhe d Biead qU Y& B & AEfafad 3 4
I 3L &7

(A) To improve stability

RRAT & UR S
(D)

(B) To improve distortion

faofa  guR &=

(C) To synchronise input and output pulses

$YE 3R SHT3TYE Tl &I Rich IS ST

(D) To reduce the number of input pulses to reset the counter

HEIR(ATED) DI YT B & I 3TYC Uiy B! WA DI HH
BT

The size of the venturimeter is expressed as 200 x 100 mm. It means B)
that:

deRHtex(venturimeter) ®T AT DI 200 x 100 T & ©9 & o
{1 SI1dT 8 | 39T Aaad ¢ fob:

(A) the diameter of upstream pipe is 200 mm and that of down-stream
pipe is 100 mm.

U UT3Y T 1 200 A B 3R STS-K I ISy &1 o
100 el B

(B) the diameter of the pipe is 200 mm and that of throat is 100 mm.

13T o1 3 200 Bt § 3R 770 &1 a9 100 R B
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(C) the diameter of the pipe is 100 mm and that of throat is 200 mm.

U1y 1 M 100 fHY € 3R 7T o7 =g 200 fFt g1

(D) None of these

TH G DIS Tol
Which of the following statements is true?

fafefad & @ o a1 919 I8l 82

(A) Megger can be used for verifying the electrical insulation level of
passive components such as resistance, capacitor and inductance.

TR D FASHY ged! & 3afdgdd IR WR B! GdIud d3-
¥ R ST R o Tl & SR TRaRly, HUIRTeR, ok
ERERt]

(B) Megger can be used for verifying the electrical insulation level of
devices such as motor, cable, etc.

TR ) TAfde e IR WR &) T $37 F R0 s (B)
o ST T § SR Hiex, Had, 3

(C) Megger can be used for verifying the electrical insulation level of
solid state devices.

TR &) Tiers Te fSarsay o) IATid HRa & forT TaHTd fhar
ST IhdT & O AleR, e, 3fe

(D) Megger can be used for verifying the electrical insulation level of
liquid crystal devices.

R P! s forted feasay & gaiid o34 & fau s
fPar ST aeparg

In a synchro pair, the control transmitter excites the three stator
windings of the control transformer. The stator winding voltages will
have:

T Rwehl TR T, deld TiaHieR deld SRBIER B diF W
ISST BT IWoTd BT | o Wex argAIST HT dleesl 8ITT:

(A) equal magnitudes but different phases

FHT URHATT <ifeh fafdrer =Ror *)
(B) different magnitudes and different phases

T afor SiR fire =R

(C) equal magnitudes and equal phases

A YRHATOT 3R A TROT

(D) different magnitudes but equal phases
o TRHTOT SR T =R0T

©
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Match list 1 (quantity) with list 2 (fransducer) and select
the correct answer using the codes given below the lists.

T 1 (@A) BT G 2 (STESYER) F 9y e
&Y 3R A= 6 g # fGr e Bis w1 sEde
HLH Tl 3L 4|

List 1 List 2
RSl i 2
P | Force measurement 1| Flat spiral
ol @ AT spring
Toic gt
g
Q| Torque measurement | 2 | Seismic mass
gih &1 FAT HfEdAs A
R | Acceleration 3 | Cantilever beam
measurement thereay  dJTe
TerHToIL el Gl
AT

(A) P-1; Q-2; R-3
(B) P-1; Q-3; R-2
(C)P-3; Q-1; R-2

(D) P-3; Q-2; R-1

Which of the following is a false statement?
frofefed # @ M a1 ared TTerd 82

(A) The specification of the percentage of full scale deflection is
more accurate than the percentage of true value.

qut 9AM faganr & ufaerd &1 fafds arafas gea & ufawa @
SUTel 9l gIaT B

(B) Hysteresis refers to the error in the output for a given value of
input when this value is approached from ascending order and then
descending order

e g qe ot < it 3y & fo erseye # Ffe & Tefia
ﬁéwwmmwﬁ@wﬁ% 3R PR ged A H W

(C) Sensitivity defined as the ratio of the magnitude of response to
the magnitude of quantity being measured has a wide range of units
depending upon the instrument or measurement system being
investigated.

AT ST X! HET & URHTO 1 Uidfehar & URHT & 30Td & =4
H g1t Yae=fiidar SUHUT a1 AT YUITel B 9 & YR IR

TPl B TP [Igd YT B

(A)
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(D) Linearity of an instrument represents the closeness of calibration
curve to a specified straight line.

UH IUHRUT B! AgAe! U Ay Wheft Yar o wiersize od &t
Aepear 1 ufaffda B B

The matrix that is used for load flow studies:

AR S UR UaTg 37e0g & e waHTa fHar Siran g -

(A) Unit matrix

e Afee

(B) Null matrix ©
ad

A

(C) Y bus matrix

ars &4 Afeed

(D) Z bus matrix

oS &9 Afce

Which of the following is/are the advantage(s) of Newton Raphson
method?

e YBe 3 o1 FEffa A ¥ P WA B A a1 2

(A) Less number of iteration

TARIGRI Bt S TS

(B) Less computation Time

TUMAT hT wH JHY

D)

(C) Applicable for large power system network

§S TTaR YU Aed & forg @y

(D) All options are correct

it foped Odt 8

Why does the minimum oil circuit breaker has less volume of 0il? ©)
AT ATTd Ffche 3 T ddt Bt T HH 1 gt &2

(A) There is insulation between contacts

AU & e 3G SIT 3

(B) The oil between the breaker contacts has greater strength

SR HUD! & oiid o § SaTaT X Bieh §

(C) Solid insulation is provided for insulating the contacts from the
earth

aﬁ%ﬁuﬁaﬁ%ﬁ%%ﬁ%mﬁmwm
ST
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(D) None of these

EREREIE ]

In order to improve the voltage profile of the line, -----------
compensation is resorted by providing:

TTZT & dleeol MBEd B YR B & AT, - oeeeev AR AL]
PP HUTIRE Bl IR foodT T 8

(A) capacitors at the receiving end

U B I RR R

(B) reactors at the receiving end

T H aTd BR R RNuged

(C) resistors at the receiving end

U B a1 BR R I

(D) None of these

T A IS e

Impulse insulation breakdown strength of the protected equipment
must be:

TRFET SUBUN B ST SR SHS3H K i dlBT:

(A) greater than that of the protecting device
RET IUDHRUT Y TG

(B) equal to the protecting device
IREM SUBUT & SRTSR

(C) less than that of the protecting device
IRET IYDRUT Y HH

(D) None of these

T A IS el

The alternator that is/are more suitable for high-speed system will be:

I T YUl o fore S1fiieh Sugad Sfeev-1ex gh:

(A) salient pole
(B) Non-salient pole
BIGE

(C) Both salient and non-salient pole

(D) None of thes

EREEEIE ]

(A)

(A)

®)
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Which of the following statements is true?
foforiad & § &H 91 H3F 9 82

(A) In impedance relay, current element torque should be equal to
voltage element torque.

mwﬁﬁ,wwmﬁamﬁ%ﬁ%wmm
|

(B) In impedance relay, current element torque should be greater than
voltage element torque.

Ewﬂﬁﬁ,waame@aﬁaaa%%%%@m
|

(C) In impedance relay, current element torque should be less than
voltage element torque.

mwﬁﬁﬁ,wwmﬁmaa%ﬁﬁmm
|

(D) None of these

ST A IS T

Which of the following is the purpose of guarding the transmission
line?

frafafad & @ iR aga & e A T30 A S @I
REES K

(A) It is to reduce the earth capacitance of the lowest unit

Tg I 3BTS Bt 31 B YUTRAT ) HH BT R

(B) It is to increase the earth capacitance of highest unit

g IIdH 3Ts B 3f ol uIRAT B SgHT ®

(C) It is to reduce the transmission losses

g IR &t &ffd B HH FRAT 8
(D) None of these

EREEEI R

By which of the following can the string efficiency of an insulator be
increased?

fufeRad o 3 fre s_gaiex &1 f&E gerar & 9fs 8 Tavdt 82

(A) by increasing the number of strings in the insulator
SR B dRI B UBAT D1 §¢T HR

(B) by reducing the number of strings

dRI 1 IS Bl HH HReb

(C) by correct grading of insulators of various capacitances

faft= s Sgcicd o Tl ST Hbh

(A)

(A)

©
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(D) None of these

EREREZ ]

If the surge impedance value for 50 miles long cable is 50 ohms, then
what will be the value of surge impedance of a 25 miles long
underground cable?

g 50 Hidt Al Had Pt aLl o ufaarer g 50 3 §, Y 25
Hier el YT Had BT TN D1 UfaaTeT I T I

(A) 20 ohms
20 3 (ohms)

(B) 25 ohms
25 m(ohms)

©

(C) 50 ohms
50 &h'f\‘:[(ohms)

(D) 100 ohms

100 3% (ohms)

The minimum insulation resistance of a 11 kV line when tested with a
1000 V Megger is:

1000 A TR o 7Y TRIEOT fhT OIF TR 11 dal 18 BT AqH
AT UfeRIY B

(A) 200MQ D)

(B) 400MQ
(C) 600MQ

(D) None of these

EREREZ ]

Which of the following test(s) is / are conducted after completion of (D)
erection of 11 kV line but before energisation of lines?

1. Conductor continuity tests
2. Earth resistance tests
3. Insulation resistance tests

"1 1 Bl AT BT ST T I & dIG, b ATSl & Holidur
¥ vga Fraffad § 3 o1 a1 wer fvar s 82

1. HSFR(ATAD) DI AT TRIEf0r
2. 31 gfeRYy 1 uteror
3. TR UfRIY BT URtero

(A)Only 1
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Had 1

(B) Both 1 and 2

18R 2 g

(C)Only 3
3

(D) All options are correct

T} fapey Il §

In case of aluminium conductors, which of the following is the
empirical formula employed for the determination of spacing of
conductors?

THITH Heaex(@ad) & AMd §, Fufafad § § e I
FHSaR(AED) b 3R B UiRd H & fore Fafora fear s
EINIE GIERIRIRSE N

(A)NS +V /100

(B)VS -V /100

(C)NS +V /150

(D) None of these

3T A IS e

Which of the following statements is true?

EEINICRE R AR R R RS A

(A) Eddy current loss in a transformer depends on voltage alone.

foraft TR & HaR YRT g1 AT dieest IR AR &t |

(B) Eddy current loss in a transformer depends on frequency alone.

fordft SR & HaR 4RT g1 1T Sgid W AR et |

(C) Eddy current loss in a transformer depends on thickness of the
lamination.

foheit IR & HaR URT g1 AR &1 Aies IR AR ot |

(D) All options are correct

T} faspey Il §

Under operating conditions the secondary of a current transformer is
always short circuited:-

ufare RUfTl & v B TBIER o1 ddbed) gHN ie
Hidhe gIar g: -

(A) It protects the primary circuits

TE UIUTiIe Fiche 1 JR&T BT &

©

©

©
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(B) It is safe to human beings

g% A=l o forg Qg §

(C) It avoids core saturation and high voltage induction

T8 PR Y 3R I= e ORI Y ST @

(D) None of these

T Y BIs ol
Which of the following statements is true?

A. In a synchronous machine, the stator frame is made of cast iron or
welded steel plates.

B. The stator core of a synchronous machine is built up of a stainless
steel laminations.

afifed 3 3 S A HYT 81 8

A. T& g AN #, Wer ThH SRE 3R I die s Wid Wiel

QB

%ﬁqgﬁaﬁwmﬁ:rm@aﬁw%mw@agmﬁﬁw
|H

(A) Only A
Had A

(B) Only B
B

(C) Both A and B

A 3R B gHI

(D) Neither A nor B

FAA RIS B

The developed electromagnetic force and/or torque in
electromechanical energy conversion system act in a direction that
tends:-

AT HBMHE ol TRl YuTel & fawRid Sadeimies sd
AR <t U R & e T : -

(A) to increase the stored energy at constant flux

fRER a8 IR W6 Sull &I S o fad

(B) to decrease the stored energy at constant flux

AR UaTe R TR Sl ol HH B &b fag

(C) to decrease the stored energy at constant mmf

AR THTHTE R TR Sl &l HH B3 & fag

(D) to increase the stored energy at constant mmf

fAROR THUATT R IR $oif & g & g

(A)

(B)
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If the excitation and terminal voltage of a synchronous motor are kept
constant and the load is increased then:-

e TP JeadbTiores (RITTeh=4) Hiex &1 IToHT 3R ¢fH-d dlecl

AR 3@ 9111 § 8IR oS a9 9¢ Il 6 -

(A) armature current decreases and power factor becomes power
leading

3R e gedT & SR UraR thaex UTeR efeT &+ 9id &

(B) armature current increases and power factor becomes more
leading

TR HC Tedl & 3R UraR thaex sarel 3ol 8 ofrar &

(C) armature current increases and power factor becomes more
lagging

3R HC gedl ¢ 3R TR e warel e ) 8 s g

(D) None of these

EREEEIEE ]

©

An external resistance added in the field of a d.c. shunt generator
will:-

ST e SFReR o & H Sitel 791 U dTe! UfRie: -

(A) increase the speed of the generator

SReR BT WS P 9gIal &

(B) increase the voltage of the generator ©

SIFRER & diees & dgTa

(C) decrease the voltage of the generator
SFRER & diecs Dl HH BT

(D) increase the power delivered

IENIEREARI IR CRCA K L]

If the rotor of a 3-phase induction motor is assumed purely resistive, (A)
then electromagnetic torque is:-

e 3. By TSI AR BT AR G e J uferieh 7 sran 8,
godeIRed el §: -

(A) minimum with load angle of 90°

90’ P TS PV P Y FAqH

(B) minimum with load angle of 0°

0' P TS BV P WY FATH

(C) optimum with load angle of 90°
90 & TS HIUT P TTY SHIHaH
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(D) optimum with load angle of 0°

0 P IS DIV & Y 3ifYHaH

How many pilot wires are required for protecting 3-phase
transmission lines using translay system of protection?

RET B ¢l R DI STAHTA HRob 3-1y dTell SRR arAl

B GR&M & R b urgeie dR} ) Sievd gt 82
(A)5
(B)4
©)2

(D) 6

Which of the following statements is true?

A. Shape of the disc of an induction disc relay is spiral.
B. A Mho relay is a voltage controlled over current relay.

IEEINICRR R AR R IR R o r

A. IR0 femp Yo 1 f%p &1 3R It glar 21
B. TATF3N Ral R dfd diees e Ra 21

(A) Only A
A

(B) Only B
B

(C) Both A and B
A 3R B gHI

(D) Neither A nor B

TJAA RIS B

It is given that a 3-phase braker is rated at 2000 MVA, 33kV. What
will be its making current?

Tg feur T 8 fob 3-59 S BT 2000 THAIT, 33 Hdl # e fopar
TR B | 3BT hc ST T gRT?

(A) 78 kA
78 HT

(B) 65 kA

65 PY

(C) 89 kA

©

(A)

©
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89 U

(D) None of these

EREEEI R

The relay that is used for the generator phase to phase winding
protection is:

gﬂwﬁmgﬁma@%ﬂW&mésms@mﬁmaﬁwﬁﬁ
(A) Differential relay.

(B) Mho relay.
LEEERIING

(C) Distance relay.

& fexdw) et

(D) Voltage balance relay.

EIE R GRERNG]

|
|

— C fault

] ®

In the figure above, the relay circuit is divided into three
parts. Which of the following statements is trug?

IR =7 3, frer afdhe &1 e emeit #F afer
¥ S=fofag & § o5 a1 39 T8 &

(A) The first part consist of primary winding of a current CT which is
connected in series with the line to be protected.

gl YT H e it &t MUfie aRfEna s g s asT o
TR 89 gy I & Jo1 2

(B) The first part consist of secondary of the CT and the operating
coil.

Ugd YT H AT 3R SR Dlzed &b Jobe =M 5 |

(C) The first part consist of tripping circuit.

ugd HIT H fefthr wfhe anfier 81

(D) All options are correct

Tt fopey Il §

(A)

(A)
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In an RC- coupled Common Emitter amplifier:- (D)

TS RI-HUCS 39 UHeR THWHRR H: -

(A) coupling capacitance affects the hr response and bypass
capacitance affects the I response

T &dT TIUH Ufafohar & THI HRll § 3R STsur
BRI SmEuts (1) wfafsran & yuifad a8

(B) both coupling and bypass capacitance affect the I response only

%?Wmﬁmmmaﬁqmﬁa

(C) both coupling and bypass capacitance affect the he response only

gﬂqaﬁ?a@mmﬁquﬁmaﬁwﬁaaﬂ?ﬂ

(D) coupling capacitance affects the Ir response and the bypass
capacitance affects the hr response

IO &dT SMSUE UfAfhaT &) THIAd Bl § SR SISUr &
TEUs fafehar ol guifad el 3

a- cut off frequency of a bipolar junction transistor:-
o- U SIRUITR SIaRH TIoRex Bt 3gRY &1 e 3iTw: -

(A) increases with the increase in base width

YR B} ASTS A I & Ay dgdl g

(B) increases with the increase in collector width (D)

Haae B AeTs U gfa & 1Y &l o

(C) increases with the increase in temperature

o § gy & Ay dgdr g

(D) increases with the decrease in base width

3TYR B HICTS & HH B & Y IgdT &

As compared to a full-wave rectifier using two diodes, the four diode (B)
bridge rectifier has the dominant advantage of:-

&I SIS T STUNT IR U Hd-dd GCHRR B o &, IR
SIS oot YFCHTIR BT T ATH §: -

(A) higher current carrying capacity
SHTCT S o S 1 &

(B) lower peak inverse voltage requirement

faa dies 3o diees B Mg

(C) lower ripple factor
frere T PR®
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(D) higher efficiency
3 & HdAT

Resistivity of a semiconductor depends on:-
T Qb Saex(TTad) BT Uferiy W ek gr 8-

(A) the length of the semiconductor specimen

@Te) WRAH Pt darg

(B) cross-sectional area of the semiconductor specimen (D)

i Saex ([@a®) WRHT H1 HIg-HaRHd TR

©) volume of the semiconductor specimen

@Ta%) WA 3 9T

(D) the atomic nature of the semiconductor

Qi Sae (D) D1 URHIY] Upfd

A germanium atom contains:-
TP STHATH gAY Wi §: -

(A) four valence electrons

IR 1Y SAFCIT

(B) si>§ Valencewelectrons (A)

EXCINE]

~

(C) four protons
IR

(D) six protons

T Uiy

In a single phase full converter, if output voltage has peak and
average values of 133 V and 325 V, then the firing angle (in degrees)
is:

TS RiTTa % Hdt dack 1, afe 33eye dlees H 133 V 3R 325
vaﬂd’rais?lwﬁ?ra%a% & B S (R 7 2

C
(A) 40 ©
(B) 140
(©) 50
(D) 130
Two blocks having respective functions as G; and G, are connected (D)

in series cascade. Their resultant will be:
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BId & | S7opT URumH gI:

(A) G or G, whichever is higher.
G, 31 G, St H e 8

(B) G or G, whichever is lower.

G, U1 G, ol ft A
(C) Gy + Gs
(D) G1.G3

A system with gain margin close to unity or a phase margin close to
ZEero is:

S & HG T [l & 1 U YUITe! a1 A & Hd Th By
i &:

(A) highly stable.

s fRR

(B) highly oscillatory.

M SNRcrest

(C) relatively stable.

3fuepd fRR

(D) None of these

T Y DI Tl

Which of the following statements is not true for root locus
technique?

FC AT db-ie & fort Fufeiad & 3 oH 91wy 981 T8 82

(A) It is used to obtain closed-loop pole configuration from open-loop
poles and zeros.

SIS ST Gol-o0 UIed 3R Y ¥ §6-qU I HIBTRA
BISERECARISCISICIE]

(B) It is most useful for single-input single- output systems.

RT3 ge-RitTet 3m3eye Rier & foiy 98 9ad Aeaqui 2

(C) It provides the pattern of movement of closed-loop poles when
open-loop gain varies.

918 GA-qU 4 3 8 € A U8 §E-qU Uled ot faitadt &1 de
TeH IRAT g |

(D) None of these

ST A DI Tl

®)

(D)

D)
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The capacity of a refrigerating machine is expressed as:-

T IpoRfeT A=A & & dr 31 & U H o far
Hobdl B-

(A) inside volume of the cabinet

BT F degH P 3R

(B) lowest temperature attained

e foba T =gy qrad=

(C) gross weight of machine in tonnes

=i &1 Hdf goi e
(D) rate of abstraction of heat from the space being cooled

WY & 38181 IR TH BT JYTHRUI §1H B &

In a vapour compression system, which of the following units is
adversely affected by the presence of moisture?

TS 9T Yute yorel #, 74t ) Sufufa @ FHafafed sesal &
A 1 W ufded U F gHIRId Sl 82

(A) evaporator
(B) expansion valve
(C) compressor

(D) condenser

For power factor correction in a welding circuit, a capacitor is usually
connected:-

ST wfdhe § uraR hdex YUR & oL, Th HUIRTER AR R
@@m%

(A) across the mains

gt =g |

(B) across secondary side welding transformer

TR Jhresl AR S AT SRIhiER

(C) across primary side of welding transformer

AET CBIR &1 1 Ieesl w15 s o

(D) across acting electrodes

R U saaeigy |

(B)

©
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Which of the following statement(s) is/are true? (B)

A. The range of horse power of diesel locomotive is 3000-5000.
B. In diesel-electric drive, locomotive and train is a self-contained
unit.

frufiad & 9 o9 91 HyT g8l /9l 82

A. SITd ApIAITeT BT g1 UTaR BT AT 3000-5000 B B
g. 3Id-gafded S13d H, AdHIed 3R ¢F Th AR gfe
I

(A) Only A
Pad A

(B) Only B
B

(C) Both A and B

A 3R B aHT

(D) Neither A nor B

TAAMRTEB

In the network shown in the figure, the value of Vy would
be?
o & @ v dead #, Vi & AT fEn?

(B)

(A)-8/9 V
-8/9dt

(B)8/9V
8/9 dt

(C)16/9V
16/9 dt

(D)-16/9 V
-16/9 @t
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Consider the two circuits | and Il shown in the given
figures. Which of the following statements regarding the
current flowing through the ammeters A« and Az is
correct?

fer oo o=t @ goe o 2 fhe 131K afew
W ToR o THed m o d#R vz & aemw § uaRd
B O T & Hew # Seatetag § f o 1@ ue
e w?

100 200 100 200

+
200 10VS

Circuit 1 Circuit IT
T | e Nl

(A) The currents in A; and A; are of the same value and equal 0.25 A

A 3R A, H Y GAM 3G & 3R 0.25 A P RS EId &

(B) The currents in A; and A; are respectively 0.25 A and 2.5 A

A SR A, HPIC HHAT: 025 A MR 25A 8

(C) The current in both the ammeters is of the same value and equals
2.5A

S AT B e THM ded B g 3R 2.5 A H TR §

(D) The currents in A; and A; are respectively 2.5 A and 0.25 A
AR A, HPICHHA 2.5 A MR 025A 8

(A)



